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PART - III

E°›¯À / BIOLOGY

( uªÌ ©ØÖ® B[Q» ÁÈ / Tamil & English Versions)

÷|µ® : 3 ©o ] [ ö©õzu ©v¨ö£sPÒ : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150

AÔÄøµ : (1) AøÚzx ÂÚõUPÐ® \›¯õP £vÁõQ EÒÍuõ Gß£uøÚ
\›£õºzxU öPõÒÍÄ®. Aa_¨£vÂÀ SøÓ°¸¨¤ß AøÓU
PsPõo¨£õÍ›h® EhÚi¯õPz öu›ÂUPÄ®.

(2) }»® AÀ»x P¸¨¦ ø©°øÚ ©mk÷© GÊxÁuØS¨ £¯ß£kzu
÷Ásk®.  £h[PÒ ÁøµÁuØS®, AiU÷PõikÁuØS® ö£ß]À
£¯ß£kzuÄ®.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

SÔ¨¦ : £Sv & I uõÁµÂ¯ø»²®, £Sv & II Â»[Q¯ø»²® uÛzuÛ
ÂøhzuõÎÀ Âøh¯ÎUPÄ®.

Note : Candidate should answer Part - I (Botany) & Part - II (Zoology) in separate

answer-books.

£Sv - I (uõÁµÂ¯À) / PART - I (BOTANY)

(©v¨ö£sPÒ : 75) / (Marks : 75)

¤›Ä - A / SECTION - A

SÔ¨¦ : (i) AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®. 14x1=14

(ii) öPõkUP¨£mh |õßS ÂøhPÎÀ ªPÄ® HØ¦øh¯ Âøh°øÚ
÷uº¢öukzx SÔ±mkhß Âøh°øÚ²® ÷\ºzx GÊxP.

Note : (i) Answer all the questions.

(ii) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.
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1. £»PØøÓ ©Pµ¢uuõÒ Põn¨£k® uõÁµ® :

(A) hõmlµõ ö©mhÀ

(B) ›êÚì P®³Ûì

(C) øí¤ìPì ÷µõ\õ&ø\öÚß]ì

(D) ª³\õ £õµiê¯õPõ

Polyadelphous stamens are seen in :

(a) Datura metal

(b) Ricinus communis

(c) Hibiscus rosa-sinensis

(d) Musa paradisiaca

2. iøµ÷\õª CÆÁõÖ SÔ¨¤h¨£kQÓx :

(A) 2n−1 (B) 2n+1 (C) 2n+2 (D) 2n−2

Trisomy is represented by :

(a) 2n−1 (b) 2n+1 (c) 2n+2 (d) 2n−2

3. JÎa÷\ºUøP°ß C¸Ò ÂøÚ°À  CO
2
 {ø»{Özxuø» FUSÂUS®

ö|õv :

(A) RuBP Põº£õU]÷»ì (B) PGA øP÷Úì

(C) iøímµá÷Úì (D) PEP  Põº£õU]÷»ì

In dark reaction of photosynthesis CO
2
 fixation is catalysed by :

(a) RuBP carboxylase (b) PGA kinase

(c) dehydrogenase (d) PEP carboxylase

4. ï¼¯õ¢uì uõÁµzvß øí¨÷£õöhºªì CuÚõÀ BÚx :

(A) AkUSU ÷Põ»ßøP©õ (B) ìQÎµßøP©õ

(C) ÷PõnU ÷Põ»ßøP©õ (D) CøhöÁÎU ÷Põ»ßøP©õ

The hypodermis of Helianthus consists of :

(a) Lamellar collenchyma (b) Sclerenchyma

(c) Angular collenchyma (d) Lacunate collenchyma

5. £»•øÚ ø\»® CvÀ Põn¨£kQÓx :

(A) J¸Âzvø» uõÁµ Cø» (B) C¸Âzvø» uõÁµ Cø»

(C) C¸Âzvø»z uõÁµ usk (D) J¸Âzvø»z uõÁµ ÷Áº
The polyarch condition is found in :

(a) monocot leaf (b) dicot leaf

(c) dicot stem (d) monocot root
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6. »zøuµì K÷hõ÷µmhì uõÁµzvß Â»PÀ ÷\õuøÚU P»¨¦ ÂQu® :

(A) 1 : 1 : 1 : 1 (B) 1 : 7 : 7 : 1 (C) 7 : 1 : 1 : 7 (D) 9 : 3 : 3 : 1

In Lathyrus odoratus the repulsion test cross ratio is :

(a) 1 : 1 : 1 : 1 (b) 1 : 7 : 7 : 1 (c) 7 : 1 : 1 : 7 (d) 9 : 3 : 3 : 1

7. SÐU÷Põêß _Áõ\ DÄ :

(A) _È (B) JßÖ

(C) JßÖUS ÷©À (D) JßÖUSU SøÓÄ

Respiratory quotient of glucose is :

(a) zero (b) unity

(c) more than one (d) less than one

8. øÁzuõÛ¯õ \õ®ÛLö£µõ uõÁµzvÀ Põn¨£k® ©g\› :

(A) Cø»U÷Põn ø\÷©õì ©g\›

(B) ìPõº¤¯õ´k ø\÷©õì

(C) öí¼UPõ´k ø\÷©õì

(D) A®ö£À÷»m ø\÷©õì

The inflorescence in withania somnifera is :

(a) axillary cyme

(b) scorpioid cyme

(c) helicoid cyme

(d) umbellate cyme

9. C¸ ÁiÁ £_[PoP[PøÍU öPõsh uõÁµ® :

(A) ©UPõa ÷\õÍ® (B) E¸øÍ (C) ö|À (D) ÷Põxø©
Dimorphic chloroplasts are found in this plant :

(a) Maize (b) Potato (c) Rice (d) Wheat

10. ø£›S÷»›¯õ Jøµ÷\Âß Cµshõ® {ø» K®¦°ºz uõÁµ® :

(A) Jøµ\õ \møhÁõ (B) iâm÷h›¯õ ©õºâ÷Úmhõ

(C) AµõUQì øí÷£õâ¯õ (D) ]mµì uõÁµ®
Which is the secondary host plant of Pyricularia oryzae ?

(a) Oryza sativa (b) Digitaria marginata

(c) Arachis hypogea (d) Citrus plant
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11. G¼UPõx AÀ¼ CuÌ uõÁµ® EØ£zv ö\´²® E°›PÍõÀ C¯ØøP°À
]øuÄÖ® ¤ÍõìiU :

(A) £õ¼ Gzv¼ß QøÍPõÀ (B) £õ¼øímµõU] ¤³÷µm

(C) £õì£õ›U Dz÷uß (D) Gs÷hõhõU]ß

The  biodegradable plastic produced by mouse-eared cress is :

(a) polyethylene glycol (b) polyhydroxybutyrate

(c) phosphoric ethane (d) endotoxin

12. ö£¢u® ©ØÖ® íüUPº ÁøP¨£õmiÀ GzuøÚ Sk®£[PøÍ
ÂÁ›zxÒÍÚº ?

(A) 204 (B) 212 (C) 202 (D) 102

How many families were described by Bentham and Hooker in their classification ?

(a) 204 (b) 212 (c) 202 (d) 102

13. ãß Ch® ©õØÔ¯ø©UP¨£mh `÷hõ÷©õÚõì §ihõ Cøua ]øuUQÓx :

(A) íõº÷©õß (B) E°º Gvºö£õ¸Ò

(C) Pa\õ Gsön´ (D) Põº÷£õøím÷µm

Pseudomonas putida is a engineered bacterium that can :

(a) produce a hormone (b) produce a antibiotic

(c) digest crude oil slick (d) carbohydrate

14. £¨£õÁº \õ®ÛLö£µ® GßÓ ö\i°À C¸¢x ö£Ó¨£k® AvP Á¼ø©
ªUP Á¼ }UQ ©¸¢x ö£õ¸Ò :

(A) S°øÚß (B) ©õºL¤ß

(C) iáõU]ß (D) GL¤m›ß

The strongest pain killer obtained from Papaver somniferum is :

(a) Quinine (b) Morphine

(c) Digoxin (d) Ephedrine
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¤›Ä & B / SECTION - B

SÔ¨¦ : GøÁ÷¯Ý® HÊ ÂÚõUPÐUS Âøh¯ÎUPÄ®. 7x3=21

Note : Answer any seven questions.

15. ö\õ»õ÷Ú] Sk®£zvß ÁøP¨£õmk {ø»ø¯ GÊxP.

Write the systematic position of Solanaceae.

16. QÍõ÷hõk GßÓõÀ GßÚ ? GkzxUPõmk u¸P.

What is cladode ?  Give an example.

17. ÷PõnU ÷Põ»ßøP©õÂß £h® Áøµ¢x £õP[PøÍU SÔUPÄ®.

Draw diagram of angular collenchyma and label the parts.

18. ³ìjÀ GßÓõÀ GßÚ ?

What is an eustele ?

19. £õ¼jß S÷µõ©÷\õªß £h® Áøµ¢x £õP[PøÍU SÔUPÄ®.

Draw the diagram of polytene chromosome and label the parts.

20. E°›PÍõÀ ^µø©UP¨£kuÀ GßÓõÀ GßÚ ?

What is meant by bio-remediation ?

21. JÎa_Áõ\zvØS®, C¸m_Áõ\zvØS® EÒÍ ÷ÁÖ£õkPøÍ GÊxP.

Write the differences between photorespiration and Dark respiration.

22. _Áõ\ DÄ & Áøµ¯Ö.

Define Respiratory quotient.
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23. SÎº £uÚzvß £¯ßPÒ ¯õøÁ ?

What are the advantages of vernalization ?

24. E°› ©¸¢x & Áøµ¯Ö.

Define bio-medicine.

¤›Ä & C / SECTION - C

SÔ¨¦ : (i) GøÁ÷¯Ý® |õßS ÂÚõUPÐUS Âøh¯ÎUPÄ® ÂÚõ Gs
25 &US Psi¨£õP Âøh¯ÎUP ÷Ásk®.

(ii) ÷uøÁ¯õÚ Ch[PÎÀ £h® ÁøµP.

Note : (i) Answer any four questions including Question No. 25 which is
compulsory.

(ii) Draw diagrams wherever necessary.

25. ª²÷\] Sk®£z uõÁµ[PÎß ö£õ¸Íõuõµ •UQ¯zxÁzøu GÊxP.

Write the economic importance of members of Musaceae.

26. iµURkPÒ £ØÔ ]Ö SÔ¨¦ ÁøµP.

Write short notes on tracheids.

27. Phzx RNA Aø©¨¦ £ØÔ ]Ö SÔ¨¦ ÁøµP.

Write short notes on the structure of tRNA.

28. uÛö\À ¦µu® GßÓõÀ GßÚ ? (Single Cell Protein) uÛö\À ¦µuzvß £¯ßPÒ
¯õøÁ ?

What is SCP ?  What are the uses of SCP ?

29. _ÇØ] ©ØÖ® `ÇØ]°»õ JÎ £õì£›Pµn[PÐUQøh÷¯ EÒÍ
÷ÁÖ£õkPÒ ¯õøÁ ?

What are the differences between cyclic and non-cyclic photophosphorylation ?

4x5=20
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30. ø\m÷hõøPÛß ÁõÌÂ¯À ÂøÍÄPøÍ SÔ¨¤kP.

Write short notes on the physiological effects of cytokinin.

31. £¸zv°ß ö£õ¸Íõuõµ £¯ßPÒ H÷uÝ® I¢vøÚ SÔ¨¤kP.

Write any five economic importance of cotton.

¤›Ä & D / SECTION - D

SÔ¨¦ : (i) GøÁ÷¯Ý® Cµsk ÂÚõUPÐUS Âøh¯ÎUPÄ®.

(ii) ÷uøÁ¯õÚ Ch[PÎÀ £h® ÁøµP.

Note : (i) Answer any two questions.

(ii) Draw diagrams wherever necessary.

32. øí¤ìPì ÷µõ\õ&ø\öÚß]ì uõÁµzvøÚ Pø»a ö\õØPÒ ‰»® ÂÁ›.

Describe Hibiscus rosa-sinensis in botanical terms.

33. C¸Âzvø»z uõÁµz usiØS® J¸Âzvø»z uõÁµ usiØS® Cøh÷¯ EÒÍ
EÒÍø©¨¤¯À ÷ÁÖ£õkPøÍ GÊxP.

Write the anatomical differences between dicot stem and monocot stem.

34. DNA ©Ö÷\ºUøP ~m£Â¯À £ØÔ J¸ Pmkøµ GÊxP.

Write an essay on DNA recombinant technology.

35. QøÍUPõ¼]ì £iPøÍ ÂÁ›.

(ÂÍUP® AÀ»x Áøµ£h®)

Write an account on glycolysis.

(Explanation or flow chart)

2x10=20
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£Sv & II (Â»[Q¯À) / PART - II (ZOOLOGY)

(©v¨ö£sPÒ : 75) / (Marks : 75)

¤›Ä & A / SECTION - A

SÔ¨¦ : (i) AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®. 16x1=16

(ii) öPõkUP¨£mh |õßS ÂøhPÎÀ ªPÄ® HØ¦øh¯ Âøh°øÚ
÷uº¢öukzx SÔ±mkhß Âøh°øÚ²® ÷\ºzx GÊxP.

Note : (i) Answer all the questions.

(ii) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.

1. GøÁ |h©õk® ©µ¦ö£õ¸Ò GÚ AøÇUP¨£kQÓx ?

(A) ¤ÍõìªmPÒ (B) ø£¼

(C) £õº EÖ¨¦ (D) iµõßì÷£õ\ßPÒ

What is the name for mobile genetic elements ?

(a) plasmids (b) pili

(c) barr body (d) transposons

2. G¢u ÁøP WBC JÆÁõø©zußø©US GvµõP ö\¯À£kQÓx ?

(A) {³m÷µõL¤À (B) vµõ®÷£õø\m

(C) D\÷ÚõL¤À (D) T. ¼®÷£õø\m

Which type of WBC responds towards allergic condition ?

(a) Neutrophil (b) Thrombocyte

(c) Eosinophil (d) T. lymphocyte
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3. ö\ÀPÎß ©øÓ•P ¤›ÂøÚ |kPmhzvÀ {Özv øÁUP £¯ß£k® ©¸¢x :

(A) PõÀ]]ß (B) B®¤]¼ß

(C) hºPì vµÁ® (D) ø£m÷hõî® AUS¾miÛß

The medicine which stops mitosis at metaphase :

(a) Colchicine (b) ampicillin

(c) Turk's solution (d) phytohaemagglutinin

4. RÌÁ¸® G›ö£õ¸mPÎÀ Gx ªPÄ® AvP©õÚ öÁ¨£ C¯¢vµ BØÓÀ
vÓøÚU öPõshx ?

(A) \õn G›Áõ² (B) j\À (C) {»UP› (D) øímµáß

Which one of the following fuel has highest thermodynamic energy conversion

efficiency ?

(a) Biogas (b) Diesel (c) Coal (d) Hydrogen

5. ^µ® öPõ»ìiµõÀ AÍøÁ SøÓUS® íõº÷©õß :

(A) ÁÍºa] íõº÷©ß (B) øuµõUêß

(C) £õµõuõº÷©õß (D) Cß_¼ß

Which hormone reduces serum cholesterol ?

(a) Growth hormone (b) Thyroxine

(c) Parathormone (d) Insulin
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6. Cx ©ØÓ Psnõi Ãk Áõ²UPøÍ Âh ªP AvP©õP öÁ¨£zøu EÔg\®
Áõ² :

(A) S÷Íõ÷µõ¦Ð÷µõPõº£ß

(B) øím÷µõ Põº£ß

(C) L¤µõß Áõ²UPÒ

(D) iøµ¦Ð÷µõªøuÀ \À£º ö£ßmhõ ¦Ñøµm

The gas which traps more heat than all other green house gases.

(a) Chloroflurocarbons

(b) Hydrocarbons

(c) Freon gases

(d) Trifluoromethyl sulphur penta fluoride

7. SÇ¢øuPÎÀ øh÷¯›¯õ GÚ¨£k® ÷£vUS Põµn©õÚ ¦÷µõm÷hõ÷\õÁß
E°› :

(A) Q¯õºi¯õ CßhìmiÚõ¼ì

(B) iøµU÷Põ÷©õÚõkPÒ

(C) ½ì÷©Û¯õ ÷hõÚÁõÛ

(D) ½ì÷©Û¯õ iµõ¤UPõ

Name the protozoan which is associated with diarrhoea in children.

(a) Giardia intestinalis

(b) Trichomonods

(c) Leishmania donovani

(d) Leishmania tropica

8. RÌ Á¸ÁÚÁØÖÒ G¢u uøha \õº¦ SøÓÄ ÷|õ´ ãß vjº ©õØÓzuõÀ
HØ£kQÓx ?

(A) wÂµ J¸[Qøn¢u uøhUPõ¨¦ SøÓÄ ÷|õ´

(B) G´mì

(C) Asi[Uhß öPõ›¯õ

(D) AÀ¤Û\®
Which of the following immunodeficiency diseases is caused by gene mutation ?

(a) Severe combined immunodeficiency

(b) AIDS

(c) Huntington Chorea

(d) Albinism
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9. ¤ßÁ¸ÁÚÁØÖÒ Gx B[Q» CÚ £ÓøÁ ÁøP AÀ» ?

(A) øÁ¯õß÷hõmi (B) `ö\Uì

(C) Bìmµõ»õº¨ (D) PõºÛè

Which one of the following is not an English breed of fowl ?

(a) Wyandotte (b) Sussex

(c) Australorp (d) Corinsh

10. {÷©õÛ¯õ, ~øµ±µÀ Gi©õ ÷£õßÓ £õv¨¦PÒ EshõS® ÷£õx
~øµ±µÀPÎÀ EÒÍ vµÁ[PøÍ PshÔ¯ EuÄ® ©¸zxÁ P¸Â :

(A) ì¤U÷©õ©÷Úõ«mhº (B) ìöhuì÷Põ¨

(C) G»Um÷µõPõºi÷¯õQµõ® (D) ï÷©õø\m÷hõ«mhº

Which one of the following medical instrument indicate the fluid in lungs in case of
pneumonia and pulmonary edema ?

(a) Sphygmomanometer (b) Stethoscope

(c) Electrocardiogram (d) Haemocytometer

11. C¨£Sv ©Ú AÊzuzv¼¸¢x Âk£k® {ø»ø¯ |©US EnºzxQÓx :

(A) øh¯ßö\L£»õß (B) u»õ©ì

(C) Cß£ßi¦»® (D) øí¨÷£õu»õ©ì

This region provides a relaxed feeling :

(a) Diencephalon (b) Thalamus

(c) Infundibulum (d) Hypothalamus

12. Pvº A›ÁõÒ Cµzu÷\õøPø¯ ©÷»›¯õÄhß öuõhº¦£kzv¯Áº ¯õº ?

(A) \õº»ì hõºÂß (B) BPìm Ãì÷©ß

(C) AÀ¼\ß (D) »õ©õºU

The scientist who established the connection between sickle cell anaemia and malaria :

(a) Charles Darwin (b) August Weismann

(c) Allison (d) Lamark
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13. ¯õ¸øh¯ Psk¤i¨¦ ÷|õ´uk¨¦ Põ¨¦•øÓ ]Qaø\US ÁÈÁSzux ?

(A) ¿° £õìi³º (B) Cµõ£ºm ÷Põa

(C) ÷áõ\¨ ¼ìhº (D) Aö»U\õshº L¤Í®ª[

Whose findings paved the way for immunization therapy ?

(a) Louis Pasteur (b) Robert Koch

(c) Joseph Lister (d) Alexander Fleming

14. ¤Ó¢u SÇ¢øu°ß EhÀ Gøh°À __________ \uÃu® }º ªS¢v¸US®.

(A) 80 - 90 (B) 55 - 60 (C) 71 - 78 (D) 80 - 95

In a newborn child the water content is __________ of body weight.

(a) 80 - 90% (b) 55 - 60% (c) 71 - 78% (d) 80 - 95%

15. J¸ PÓøÁ Põ»zvÀ AvP AÍÄ £õø» öPõkUP Ti¯ PÓøÁ CÚ® ?

(A) Qº (B) K[÷PõÀ

(C) ]¢v (D) Pµß _Âì

Which is considered as a highest milk yielder, per lactation period ?

(a) Gir (b) Ongole

(c) Sindhi (d) Karan Swiss

16. R÷Ç öPõkUP¨£mkÒÍ øÁµìPÎÀ SkSk¨ø£ ÷£õßÓ
{³UÎ¯õ´øh²® AuøÚ `Ì¢x Cµsk \ÆÁkUSPøÍ²® öPõsh
øÁµì Gx ?

(A) A®ø© øÁµì (B) ÷µ¤ì øÁµì

(C) ¦ØÖ÷|õ´ øÁµì (D) öí¨£møhmiì&¤ øÁµì

Which one of the following virus has a dumbell shaped nucleoid surrounded by two

membrane layers ?

(a) Pox virus (b) Rabies virus

(c) Cancer virus (d) Hepatitis-B virus
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¤›Ä-- - B / SECTION - B

SÔ¨¦ : GøÁ÷¯Ý® Gmk ÂÚõUPÐUS ©mk® Âøh¯ÎUPÄ®. 8x3=24

Note : Answer any eight questions.

17. {ÖÁÚº uzxÁ® GßÓõÀ GßÚ ?

What is founder principle ?

18. P®¨³mhm ÷hõ÷©õ Qµõ¤ ÷uº¢uõµõ´uø» Põ¢u AvºÁø» ö£¸UP®
{Ç¾ÖÄhß ÷ÁÖ£kzxP.

Differentiate CT Scan with Magnetic Resonance Imaging (MRI).

19. £_ A®ø© ÷|õø¯ ukUS® ÁÈ•øÓPÒ ¯õøÁ ?

What are the control measures of cow pox ?

20. ÷u]¯ £ÀÁøPø©  ö\¯Àvmh® GÆÁõÖ ö\¯À£kzu¨£kQÓx ?

How is the National biodiversity action plan executed ?

21. ‰»aö\ÀPÒ GßÓõÀ GßÚ ? AÁØÔÀ ãßPÒ GÆÁõÖ Emö\¾zu¨
£kQßÓÚ ?

What are stem cells ?  How can the genes are delivered in this cell ?

22. ö©sh¾US ¤¢øu¯ Põ»zvÀ ÷uõßÔ¯ ¦x ©µ¤¯À ÷Põm£õkPøÍ
£mi¯¼kP.

List out the new concepts formed during post-Mendelian period.

23. ¦µu ö\´v°¯À & Áøµ¯Ö.

Define Proteomics.

24. AÚõLø£»õU]ì GßÓõÀ GßÚ ?

What is anaphylaxis ?

25. Bßi£¯õiU GßÝ® ö\õÀ SÔ¨¤kÁx GßÚ ?

What does the term 'antibiotic' refer to ?
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26. ‰»aö\À ]Qaø\ GÆÁõÖ EÖ¨¦ {µõP›¨¦ ¤µa\øÚUS J¸ wºÁõQÓx ?

How does stem cell therapy bring solution for graft rejection problem ?

27. Enº |µ®¤¯À Põx ÷PÍõzußø© GÚ¨£kÁx ¯õx ?

What is called Sensorineural hearing loss ?

28. Euµ¨ø£²øÓ AÇØ] GßÓõÀ GßÚ ?

What is Peritonitis ?

¤›Ä - C  / SECTION - C

SÔ¨¦ : H÷uÝ® ‰ßÖ ÂÚõUPÐUS ©mk® Âøh¯ÎUPÄ®. ÂÚõ Gs
31&US Psi¨£õP Âøh¯ÎUPÄ®.

Note : Answer any three questions including question no. 31 which is compulsory.

29. Cu¯ C¯UP yshÀ ÷uõßÓ¾® £µÄuø»²® ÂÁ›.

Explain origin and conduction of heart beat.

30. G´mì ÷|õ´ uk¨¦ ©ØÖ® Pmk¨£kzxuÀ £ØÔ¯ SÔ¨¦ GÊxP.

Write a note on control and preventive measures of AIDS.

31. C®³÷ÚõS÷Íõ¦¼ß ‰»UTÔß £h® Áøµ¢x £õP[PøÍ SÔUP.
C®³÷ÚõS÷Íõ¦¼ß £õ¼ö£¨øhk \[Q¼°ß Cµsk •UQ¯¨
£SvPøÍ ÂÍUSP.

Draw a labelled diagram of immunoglobulin molecule.  Explain the two major regions
of immunoglobulin polypeptide chain.

32. S÷ÍõÛ[ GßÓõÀ GßÚ ? Euõµnzxhß ÂÍUSP.

What is cloning ?  Explain it with example.

33. £›nõ©zvÀ ©µ£q ©õØÓzvß £[QøÚ ÂÍUSP.

Explain the role of mutation in Evolution.

3x5=15
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¤›Ä & D / SECTION - D

SÔ¨¦ : GøÁ÷¯Ý® Cµsk ÂÚõUPÐUS ©mk® Âøh¯ÎUPÄ®. 2x10=20

Note : Answer any two questions.

34. £Øö\õzøu HØ£kÁuØPõÚ Põµn[PÒ, ÷|õ´ AÔSÔPÒ ©ØÖ® ]Qaø\
•øÓPøÍ²® ÂÍUSP.

Explain the causes, symptoms and treatment of dental caries.

35. ÷u]¯ Sk®£|» vmhzvÀ EÒÍ £À÷ÁÖ ö\¯À vmh[PøÍ²® AÁØÔß
•UQ¯zxÁzøu²® GÊxP.

Comment on various schemes suggested by the National Family Welfare Programmes
and their importance.

36. PÈÄ ÷©»õsø©°À E°›¯zwºÄ, «sk® £¯ß£kzxuÀ ©ØÖ® ©Ö
_ÇØ] •øÓPÎß •UQ¯zxÁzøu ÂÍUSP.

Explain the significance of Bioremediation recycling and reuse methods in waste
management.

37. ï÷©õ ø\m÷hõ«mh›ß P¸Â ÂÍUP® ©ØÖ® AuÝøh¯ ©¸zxÁ
•UQ¯zxÁzøu²® Â›ÁõP ÂÍUSP.

Explain in detail about the instrument of Haemocytometer and its clinical significance.
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